Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #20

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine, Matt Weiner, Christopher Moretti and Phil Castagna are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
This type of writ comes from the Latin word for “we command.” It is a writ issued by one court that orders another court, government official, public body, corporation or individual to perform some task. An example includes an order to begin integrating a school system. For 10 points, what is this writ that is the exact opposite of an order to “cease and desist”?

ANSWER: MANDAMUS
2.
In 751, this dynasty’s political power began to decline after military defeat against the Arabs. By 907, northern invaders overthrew the dynasty, which was followed by five northern dynasties and ten southern kingdoms. For 10 points, what is this Chinese dynasty that shares its name with a popular orange drink?

ANSWER: TANG
3.
For 10 points, who won the 1912 Olympic pentathlon and decathlon?

ANSWER: Jim THORPE
4.
Newer monitors perform this function, often symbolized by an upside-down magnet with a slash through it, automatically when they are turned on. For 10 points, what is this process that demagnetizes the metal components in a CRT, reducing image distortion?

ANSWER: DEGAUSSING
5.
This word comes directly from the Latin word meaning “a spark, glimmer or faint trace.” For 10 points, what is this nine-letter word starting with “s” that means a tiny or scarcely detectable amount, or a tiny trace?

ANSWER: SCINTILLA
6.
Rabbi Isaac Mayer Wise was an important organizer of, for ten points, what sect of Judaism that often preaches in the vernacular and accepts female rabbis, making it more liberal than either Orthodox or Conservative?

ANSWER:  Reformed Judaism

7.
For ten points, name the author of Roots.

ANSWER: Alex Palmer Haley

8.
For 10 points, what is the formula for phosphoric acid, remembering that a phosphate ion has a charge of negative 3?

ANSWER: H3PO4
9.
In the 1970s, economic theory was turned on its head by the general absence of economic growth, yet the persistence of inflation in much of the Western world. For 10 points, what term was used to describe this condition, a mixture of the words stagnation and inflation?

ANSWER: STAGFLATION
10.
In 1970 President Nixon established, for ten points, what federal organization that sets and enforces pollution-control standards, such as the banning of DDT and the removal of lead from gasoline?


ANSWER:  Environmental Protection Agency (or EPA)

11.
THIS IS A COMPUTATION QUESTION. The carousel costs 3 tickets to ride and the Gravitron costs 4 tickets. Tickets are 50 cents each, and Bobby buys $10 worth of tickets. If Bobby rode the Gravitron twice, how many times did he ride the carousel?

ANSWER: FOUR
12.
By 1965, Mao Zedong thought he could no longer count on the support of the regular Communist party apparatus. He turned to high school and university students who formed groups known as the Red Guards who promoted the ideas found in Mao’s little red book of quotations. For 10 points, what term is used to describe this “revolution” which only ended with Mao’s death in 1976?

ANSWER: CULTURAL Revolution

13.
Einstein won a Nobel Prize for his explanation of this effect. For 10 points, what is this effect observed when electrons are freed from a surface struck by electromagnetic radiation, such as light?

ANSWER: PHOTOELECTRIC effect
14.
For ten points, name the novel about Teddy Bloat and a man who can predict the launching of German rockets named Tyrone Slothrop, written by Thomas Pynchon.

ANSWER: Gravity's Rainbow

15.
For 10 points, what state has Robert Ehrlich and Kathleen Kennedy Townsend running for governor?

ANSWER: MARYLAND
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
What popular Jewish composer, who lived to be 101, ironically wrote the songs “Easter Parade” and “White Christmas,” as well as “God Bless America”?

ANSWER:  Irving Berlin
1B.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the cross product of the vector 6i + 5j + 4k and the vector 7i + 3j + 1k?   

ANSWER: -7i + 22j – 17k
2A.
For ten points, Shakespeare wrote a trilogy of historical plays about what king who is first deposed by Edward IV and then murdered in the Tower of London by Richard III?

ANSWER:  Henry VI
2B.
What underground area beneath a church can be used as a chapel or for worship, but usually contains tombs of important people connected with the church, such as martyrs?

ANSWER:  crypt (do not accept “catacomb”)

3A.
Britain, Turkey and France allied against what country in the Crimean War?

ANSWER: RUSSIA (don’t accept the Soviet Union)

3B.
Several film scripts and the poetry collection The Cabin complement his plays about coin thieves and despondent real estate agents. Name this author of American Buffalo and Glengarry Glen Ross.

ANSWER: David Mamet

4A.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the hexadecimal solution to the problem 1F + 24 (one F plus two four)?

ANSWER: 43 (four three in hex, or just four three.)

4B.
Cuyahoga (KYE-uh-hoh-guh) County consists of what major Midwest city?

ANSWER: CLEVELAND
5A.
A 1979 meltdown at what nuclear reactor site just south of Harrisburg, Pennsylvania caused some environmental radiation damage?

ANSWER:  Three Mile Island

5B.
What waste product of formula CO(NH2)2, filtered from the blood by the kidneys, is formed in the mammalian liver when nitrogen compounds are broken down?

ANSWER:  urea
6A.
The Washington-area sniper struck in late October outside the Washington area with a strike in what town north of Richmond at a Ponderosa?

ANSWER: ASHLAND
6B.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the product of the binomials 2x + 3 and x – 1?

ANSWER: 2X2 + X – 3 (two x squared plus x minus 3)

7A.
Created by the joining and expansion of the previously published stories “Killer in the Rain” and “The Curtain,” it introduced the character of Philip Marlowe. Name this novel by Raymond Chandler.

ANSWER: The Big Sleep
7B.
Classical composer Christoph Gluck (GLOOK) wrote two operas about what sister of Electra who in one legend was sacrificed in Aulis, but in another was saved by Artemis and taken to Tauris?


ANSWER:  Iphigenia (if-uh-jen-EYE-ah)

8A.
Negros (NAY-grohs), Leyte (LAY-tay), Mindanao (min-DAH-now) and Luzon (LOO-sohn) are islands in, for 10 points, what country?

ANSWER: PHILIPPINES 
8B.
What nine-letter word from French describes a collection of wild animals, especially for exhibition?

ANSWER: MENAGERIE
9A.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the sine of 3 pi over 4?

ANSWER: √2 / 2 (square root of 2 over 2, or 1 over the square root of 2)

9B.
Francisco Coronado, while exploring the American Southwest, was in search of what legendary golden city?

ANSWER: CIBOLA (see-BOH-luh)

10A.
What process allows respiration and energy gain to occur without the aid of oxygen, such as what a yeast cell does in order to produce beer or wine?

ANSWER:  fermentation
10B.
For 10 points, what name is the amount of time it takes a particle on a wave to pass through one entire cycle? 

ANSWER: PERIOD
Third period: 15 tossups
1.
It can change throughout the life of an organism, with aging and environmental conditions as contributing factors.  Shape, color, and size are three of, for ten points, what visibly observable characteristics of a life form, as opposed to the genetic make-up, or genotype?

ANSWER:  phenotype
2.
In this book, the infiltration of the white man into the Ibo village of Umofa at the beginning of the twentieth century upsets Okonkwo so much that he commits suicide.  For ten points, what 1958 novel, written in English by Chinua Achebe (a-CHAY-bay), is now required teaching in Nigerian schools?

ANSWER:  Things Fall Apart
3.
THIS IS A COMPUTATION QUESTION. A team wins the first 13 games of the year.  It then loses 4 out of 7.  The team wins 2/3 of its next 18 games.  For 10 points, how many games in a row does the team need to lose to have won exactly 2/3 of its games?

ANSWER: 4  

4.
Odus, Faydwer, Kunark, Velious and Antonica are the five main continents in the world of this fantasy computer game. Races include the learned Erudites, the lizardly Iksars, and the feline Vah Shir. For 10 points, what is this massive multi-player online game from Sony?

ANSWER: EVERQUEST
5.
For 10 points, who is the made Roman Emperor that allegedly appointed a horse as consul?

ANSWER: CALIGULA (accept Gaius, as that was his real name.)

6.
This country’s conservative Guardian Council often thwarts the agenda of the reform-leaning majlis (MAHJ-liss), or parliament. For 10 points, President Mohammad Khatami is trying to bring reform to what country?

ANSWER: IRAN
7.
Plumbago and black lead are two of the names for this allotrope of carbon. For 10 points, what is this allotrope of carbon that is hexagonally crystallized?

ANSWER: GRAPHITE
8.
For ten points, what Shakespeare play centers on a Danish prince’s attempt to enact revenge against his uncle for murdering his father?

ANSWER:  “Hamlet”
9.
For 10 points, what is the infinitive in the following sentence? “The two lovers wanted to take a tram to the top of the mountain.” 

ANSWER: TO TAKE
10.
Confederate victory at this battle was enabled by the arrival of James Longstreet’s corps from the Army of Northern Virginia, but Braxton Bragg’s failure to follow up on his victory enabled Sherman to force the Confederates from Teneessee for good a few months later. For 10 points, what was this September 1863 battle, the second bloodiest of the Civil War?

ANSWER: CHICKAMAUGA
11.
Morgan Le Fay rescued him from a lake when he was a baby, and he was the father of King Galahad.  For ten points, in some versions, what champion knight of the Round Table had an adulterous affair with Arthur’s queen, Guinevere?

ANSWER:  Sir Lancelot of the Lake

12.
Born in Albany, he helped Samuel Morse develop the telegraph, and in 1846 became the first director of the Smithsonian Institution.  For ten points, what American physicist observed electromagnetic induction a year before Michael Faraday did, and now lends his name to the SI unit of inductance?

ANSWER:  Joseph Henry
13.
Although it may seem initially good to consumers, debtors do not do well when this happens, as their incomes will decline, but their fixed obligations, such as debt payments, remain the same. This led to much of the economic problems of the late 19th century and contributes to Japan’s problems today. For 10 points, what is this economic condition where prices, and income, decline?

ANSWER: DEFLATION
14.
For 10 points, what is the translation of the following sentence in Latin? Marcus agricola est. (MAR-kus ah-GRIH-koh-luh EST)

ANSWER: MARCUS IS A FARMER or MARCUS IS THE FARMER (Latin doesn’t have articles.)

15.
For ten points, what French sculptor is best known to Americans for his monumental 1886 bronze Statue of Liberty?

ANSWER:  Frederic Auguste Bartholdi (bar-TOLL-dee)

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
It usually can grow as deep as 100 feet in the water, and Ulva, sargassum, and dulse are three common varieties.  For ten points, multicellular algae that attach to the ocean floor or rocks are known by what common name, another example of which is kelp?

ANSWER:  seaweed
2.
“The Little Minister” brought him to prominence, while the satire “The Admirable Crichton” made fun of upper-class English people shipwrecked on an island.  For ten points, what Scotsman wrote stories for five sons of his friends Arthur and Sylvia Davies that became the play “Peter Pan?”

ANSWER:  James M. Barrie
3.
In the 1950s, he appeared in several TV shows, including the role of Bob Wilson in the Twilight Zone episode “Nightmare At 20,000 Feet”. Since his most famous role over 30 years ago, he has appeared in TV series such as T.J. Hooker, TekWar and Rescue 911. He was in the movie Miss Congeniality and Priceline.com is making a bobblehead doll of him. For 10 points, who is this person that will never be able to overcome his portrayal of Captain James T. Kirk in Star Trek?

ANSWER: William SHATNER
4.
In his masterpiece, he showed how empires of the 17th and 18th century rose and fell through the use or misuse of naval power, spurring the American naval buildup of the late 19th and early 20th centuries. For 10 points, who is this former naval officer, the author of “The Influence of Sea Power upon History?”

ANSWER: Alfred Thayer MAHAN 

5.
THIS IS A COMPUTATION QUESTION. Angle A is the angle of elevation of a kite with a 50-yard string that is flying fully extended. The kite flyer is standing at a point 30 yards from the point directly under the kite.  For 10 points, what is the value of the cosine of angle A?

ANSWER: 3/5 or .6
All questions © 2002 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.


